Ix?ﬁg HFREMAE:  http://tygdedu.keaedu.com/

ARELESNCIAREN

2016 ~ 2017 24555 — 22 #A-L AR R B Be v oF
I"—‘A a_Js
= E
(HiXEtE: E4 8 : 00—9 : 30)
22 RE:FAEBNASEE, SHNRAFMTFRFETERE, K8 90 245, #D 100 2.
s | =
ES 5 g5 T 17| 18| 19| 20| 21| 22| 23| 24 B 4
' 4
— ERECEKESE 10 /M, M3, 1305
e TR 00 AT, R SR, s BRSSO\ F RAR (R
e 1 2 3 | 4 [ 5 6 7 8 9 | 10
i HR |
L Lt a? - o® WERST
H }é A.a’ B.a’ C.a® : D.a7}
2. Wik, £0Jk 2 ABEMMABA L/— &, 35 O ELCD / BE,# LAOC = 40°, | /B
r
i A.160° B.140° 4
. C.60° D.50° = 3< =
N B E
3. PR (% 2EE)
A.a® +a? = a° B.(- a%?)? = a°b*
a ¥ C.22%+22% = 0 D(-1)% =8
% 4. F 3D ITEPHARITED B mRE @ e pR R R, 2R3 HA +0.000 063 2. 0.000 063 2
R REERRN
A.6.3 % 10° B.6.3 x 107¢ C.6.3 %1073 D.0.63 x 10°
5.BEH, K C¥E LAOBHOB i1k, HRM:E A CHECN // OA, YEBERE B % . TR
FG WIfli#k, EFH R
A.LLE C WL, OD Bk h k@ w y
B.BL& C WL, OM #& kB3 /ﬂ TaN
N C.LL& E WL, DM 4 %4203 A R A
= D. L& E HBL, CE By %4230 (%5 )
N
CERHE F17(H6m)




IA#E e

ARELESNCIAREN

http://tygdedu.keaedu.com/

6. FRIERMEA T EAKZHAR

A.(z +a)(z+a) B.(a + z)(a - b)
C.(-z-b)(z+b) D.(—a+b)(-a-b)
7. A ESSPEROEE SRR R I TE. RI\RESTTIIBEFROR
K| T/C - 20 -10 0 10 20 30

A v/m/s | 318 324 330 336 342 348
A FERXAEE R, SRR E R, AR R E R
B. A SR FH R TR
C.AHE v 5XBTHXRERXN v = T +330
D. SREFH 10T, FHEB I 6m/s
8. FRIGRK, HALRN 3 MR

A.3% =36 B. 3¢ +3% C. 3¥+38 D. (-3) x (-3)
9.4MM, & F,E S JI7TERB AB #ICD Lk, FRIKMMHHEAB//CDME +—pF 4
D E [65
C. 8= 72 D.+23=24 (EoEE) .

10.—F, IEEER, MEFRAA, MEEASERE, Tt LIRERERIRFFEF
B TFHIAE R, GEERBEI Wi piX % Lor Bkt

l'*/mﬁ‘ l/}ﬁi EFRAEE IR
o] . Wl 0| g of & B8] o : B

VRSB (AKE S 6 N/ME, G/ 2 4, 3 12 4) BERBEETRE L.
11. M, B2 AB 5CD #HiZXFHO,H L1+ £2 =60, ZAOD WIBE¥ 4
% ; s
. " i
12'ﬁ.g(%)mw x 32018 4k 8 3 ) (%1 5@)
13.% L1+ £2=180", L1+ £3 = 180", Wl L2 55 L3 WIRAR
4.BHz+y=12,2y = 32,0 22 + Y H{EHN
15. KB K 0 24cm, P —8K zom, RN y com?, MK FEHER y 5k z ZFIH
X7KHy_ .
16. Bflla,b,c REANEGESHE, Ha > b6 > c. B b IOKRWEFEERNIS, Ua,cH
KRMEHKAEERNY S, S, - S, BEN

D

LEREF F2T(I6T)



Ix?ﬁg ZERRPIHE:  http://tygdedu.keaedu.com/

/ ARELEONVIARER

EWMEB(RKEE 8 /NS, 3t 58 4) MERS HAB A SCFRH B R R
17. (/M 3 4%, 36 12 5%) 9.

(1)(222%9)% + (23y%); (2)(a +2)(a =3) + (a +3)(a - 3);
Bz -y+5)z-y-5); (4)899 x 901 + 1. (AFEARXHTHR)
18. (A 6 41)

S, R[22 + y)? - y(y +42) - 82y] + (2z), i = = 2,y =-1.

19. (A% 6 43)
WE, EMEL AB // CD, H% EF 4315 AB, CD #iZF £0, M, 4 OP # L AOE 14
W, H OP | EF,ERNK 0.3 LAOP = 30°, K LEMD HJEEH.

LERYFE FIWW(3h67)




I*ﬂg HFREMAE:  http://tygdedu.keaedu.com/

ARELESNCIAREN

20. (A7 7 4)
M, A — KA (3a + 6) K, KN (2a + b) RWKHEE [ =
i, FERAK (a + 6) KEEFTHES, KA NEDTH . LR | s
R IE B3 (BRERRS) ST RAL . '
(1) A% a, b HRBRFRBEEE ORI
(2) % a =506= 20 REEELOHER.

.
21. (A% 5 4)
BHI:La, Zp. R1F: LAOB, (1 LAOB = La+ /P.(R%. RREME, 1Mk, & ¥
G ERE)
=
# ’ 5
& A
X
a At * { [
X ]
i |
23 [
22. (&6 4) A ’
W1, AD =% ABC i34 BC E#9#%, B AD = 8em, i S (onvs) -
P BC = 9em. £ E W& B Hi%, #E 2Bt BC 4 & C 25, P

B S0 RME 2 BR. B4 E SR E Y 7

:
E D C T2 3ptigss

z(s), M ABE R y(cm?). &1 @2

(1) 764 E #YBC [ 5 C 52 sh A B o, 2 i 38 B Jo em/s, A& = RBAER
2B BE k£ em, Bt y 5z ZEMHXERXY ;

() Bz =28,y MEN_ % G 1sH, y HBLERR,

CERME F4T(H6TW)




Ix?ﬁg HFREMAE:  http://tygdedu.keaedu.com/

ARELESNCIAREN

23. (&7 4)
E X TEN T UL ARFAE M T ERRRA - EEOER, TUSE —/1 %
2, HETG AT LAF) 18 B 49 % Rk a1

a b b a_c b b

) 2B @2 @3
(1) mE 1, REEEK R a, b WIEFTERE e, BH o KT EHRO ALK S, 1B 1, 7T

BERX:(a +26)(a +b) = ;

(2) MATF5IM A, B REPEE—BIES. REF_ 8.

» A: @ WHE 2, RIVNNEFTERMI TR —MIKH a + b + c WKEFT, A
: AR I AR KIE T T TR, BRI SR K

| }é 3

} @EMa+b+c=1lab+be+ac = 38 FA O HHBRHER, RAKR

[ K a* + b2 + 2 WOMH.
B:@ 41 3, 2/ 2 MNEF A 6 MR AT R SR — MR KK a + b B KEN K,
533 KD B, ARFAMFERREAKRETKOER, BANSR Y
= @B a+b=5ab=6FHOFHBOER, RABK o> + 6° W9MH.

. %

LERIE BST(H6T)




Ix?ﬁg ZERRPIHE:  http://tygdedu.keaedu.com/

ARELEONVIARER

24. (89 4)
&%;‘é&dxfﬂ?ﬁw,/J\ﬁ}!%%ﬂaﬁﬁﬁEﬁﬁﬁtﬁlﬂl?ﬁ%ﬁﬁﬂlﬁﬁmMk?&.t,tmEl 1,
L) m ) n, ZRARGEATR A BELLn L, Hfaih AB 5HEL L WX TED, Hfl
AC 5T % n HI5%TF HE, #Hi0 BC 515 HE L, m,n HXTFHF,G, H.

(1) % /BDF = 35" B, ZCAG = °; % /BDF = 20° Bf, ZCAG =

(2) M TFIR A, B RESEE—EEE, REF
AtE 1,% /BDF = a(0° < a < 90°),R ZCAG WHEH(AE a HRTFER).
B.4m[E 2, %# GE.# /GEH + / AEH = 180°, Ml /GEH 5 /BDF ER R & e

RIS,
A A
ya ya
Q/ \ o/' ‘ ;
....... LESL . e ol "
NS B s 2\ 5
................. 2 \\H il
@1 : @2 :

LERYF BT (36T)

SRR TR P48 i 7



